SEW Math HW 3 Due Monday July 9th

1. Factor the following.
4x% — 25

222 + 11z + 15

22 +x—6

2. Use your answers from problem 1 to find the domain of the following rational expressions.

22 +x—6
202 + 11z + 15

3. Perform the operation, simplifying as much as possible.

2+zr—6 472 — 25
202 + 11z +15 22 -4

4. Perform the indicated operation.
T 3 11
- +
z+7 x-—-T7 x2-49

422 — 25

2 —4



5. Simplify the following as much as possible. Leave your answers with positive exponents only.
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v/ 32x3y8 W

6. Perform the indicated operation and simplify

20V3x + 5V 1223 — xv2Tx

22yt - \/Azy?

(v/5 + 3v10)(2v/5 — V/10)

7. Perform the indicated operation. To begin, rewrite this with fractional exponents. Write your final answer back into
radical form.
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